NARER. /L i

ng system produces parts. The parts arive from an upstream Poisson

of | part every § minum;ﬂflﬁds that enter the system must go
where! e 2 preparation workers. Each part requires only | of
preparation time is exponentially distributed with means

here is onlyspace for 8 parts.in the preparation queue. Any parts that arrive lo the
there are §/or more pars in.the preparation queue cannot enter the system. These
unted to 8 re-circulating conveyor, which takes 12 minutes 1o re-circulate the parts
: they ean Iry again 1o enter the preparation queuc.
" Afier preparation, the parts are processed on two different production lines. There is a
40% chance that the parts are built on line 1 and a 60% chance that they go to line 2, Line | has a
build station staffed by 2 workers. Line 2 has a build station that is staffed by 3 workers. The
time 1o build a part on line 1 is triangularly distributed with a (min = 2, mode 6. max = B)
minutes. The time to build a part on line | is triangularly distributed with a (min = 3, mode 6,
= 7) minutes. The build time requires only | worker for the task to be performed.
After the parts are built they go to a packaging station. The packaging station is staffed
by 2 workers. Only | of the 2 workers is needed by cach part. The time to individually wrap a
Bt is exponential with a mean of 30 seconds. After each individual part is wrapped. the worker

‘& 2 "..?1'!-"'\-.-."' "

i

ing peanuts. and placcs the part into a box for shipping. The time 1o fill the
i s uniformly distributed between | and 2 minutes, Afier the packaging, the box




Shinulaiin

Exom - Fimal 3prmg 2l Frinted ™ i
E TR LT R i { e fi
shrens Comstemct Description Functhonalin
i
[ i 1 K ' —_ ™
1
1
|
\ th
, [ ) tites i TR - t q
| i
AR U q
| ! } AN Hy il
[
il u | et
[ - vl 1 .
|
|
-
1 ] !
15
Firsts i 1 ]
£ . 1 |
i I !
\ I I v ke
it )
» i 1 i {
L REA i 1
3 \
v \
h uh







:
e
b 12
g







! Question 7

Final Fall 2020

Time left 0:37:5ﬂ

| Not yet answered

Marked out of 1.00 :

" Flag question

A does not store

formulas, it just stores numbers and
it can be one of the following types:
scalar, or vector, or matrix.

a. Attribute
b. Schedule
¢ C. Variable

< d. Expression
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‘ Question 2

' Not yet answered

Marked out of 1.00

V Flag question .

A set of approximations and
assumptions, both structural and
quantitative, about the way the
system does or will work. This is the

definition of:

() a.Steady State of the System
¢ b. Validation
¢ c. Simulation system

@ d. Logical Model

Next page

Quiz naviaation




SIMULATION

Home My courses
SIMULATION General

Final Fall 2020

Time left 0:54:50

Question |
' Not yet answered

.r | ' Marked out of 1.00

| ' ¥ Flag question

A failure policy must be attached to
- two resources or more.

Select one:

«’ True

" False
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Time left 0:12:05

j Question 20
Not yet answered

Marked out of 1.00

| ¥ Flag question

We may have more than one entity
type and multiple reallzctlons of the’;'-_f.;f.-_
entities in the same system FENR

Select one:
C True

" False

Next page
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/_ Question 19

. Not yet answered

f
| Marked out of 1.00

| V¥ Flag question

I

(=

3-__fﬂ Over simplifying @ model by mdking
~ assumptions will allow us to use
_ traditional methods easily

~ Select one:

 True

" False












17 (’H Time left 0:16:46

Question

Not yet answered
Marked out of 1.00
¥ Flag question

e ——

The news vendor problem is an
example of

& a. Dynamic, Continuous,
Deterministic

e b. Static, Discrete, Stochastic
- ¢. Dynamic, Discrete, Stochastic

d. Dynamic, Continuous,
Stochastic



’Wlt

I







Final Fall 2020

Time left 0:15:1(;\
Question ]8
Not yet answered
Marked out of 1.00
' ¥ Flag question

_If a system changes significantly
with respect to time; it is said to be

7 a. Dynamic
& b. Static

. c. Deterministic

¢, d. Stochastic













Vv Flag questlon

e s

I'Marked out of .00

| lncorrectly specn‘ylng the delcy

IOQIC in the process module :

 “Seize Delay Release to Seize;
sue that should be flxed

_ isanis
~using
_ a.Typellerror

eb Verification

¢ c.Vadlidation

., d.Steady state system

frozm

Not yet answered Time left 0;43:48
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entities will build up in queue
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caneral  Midterm Fall 2020

1 | )
For a simulation model with an output of 15 and utilization of 85%
time distribution parameter is expected (most likely) to: )

R

L) Q.Increase the output and decrease the utilization
b. Decrease the output and increase the utilization

c. Increase the output and increase the utilization

9 ncrease waiting time and decrease output

e.Decrease the output and decrease the utilization
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SIMULATION

Home My courses SIMULATION Genera Midterm Fall 2020

Ensuring that the model behaves in the way it was intended is called

X

) a. Verification

b. Validation

) £.Type lll Error

{ d. Sequantial Sampling
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SIMULATION

specifying the delay logic in the process module from "Seize De
enould be fixed using

El

incartectly
an issue thot
a. Volidaton
b, Stendy state Systemm
© c. Veritication
A L
dyType L errol i
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SIMULATION

specifying the delay logic in the process module from "Seize De
enould be fixed using

El

incartectly
an issue thot
a. Volidaton
b, Stendy state Systemm
© c. Veritication
A L
dyType L errol i
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Final Fail 2020

one of the following is a valid termination ~ondition for vne BONK oroblem .

a '-‘.q'{'tw v= [ B Tf]T.'.'j'lWP =l
o, THOW 420 && TotalWP == 8]
C TTLOW = a?a H Tt ..1-'.."..:"; e (1l ':'-l;-_‘:ﬁﬁ Or;

d' 11- 1‘10“” y =













